# Complex Inverse Trig & Inverse TrigH (H.1)

20160910

Copyright (c) 2015 - 2016 Young W. Lim.

Permission is granted to copy, distribute and/or modify this document under the terms of the GNU Free Documentation License, Version 1.2 or any later version published by the Free Software Foundation; with no Invariant Sections, no Front-Cover Texts, and no Back-Cover Texts. A copy of the license is included in the section entitled "GNU Free Documentation License".

## Inverse Trignometric & Hyperbolic Functions

Sin <sup>1</sup> (Z)	Sinh d (Z)
(o) <sup>1</sup> ( <del>2</del> )	(osh 1 (Z)
tan 1 (Z)	tanh (Z)
cot <sup>1</sup> (Z)	coth (Z)
sec <sup>+</sup> (Z)	sech - (Z)
cs( <sup>+</sup> ( <del>Z</del> )	csch <sup>†</sup> ( <del>Z</del> )

# Sin (2)

$$W = Sin^{-1}(z)$$

$$E = Sin(w) = \frac{e^{iw} - e^{-iw}}{2i}$$

$$e^{iv} - 2iz - e^{-iw} = 0$$

$$e^{2iv}$$
 -  $2ize^{iv}$  -1 = 0

$$e^{iv} = iz \pm \sqrt{(iz)^2 + 1}$$
$$= iz + (1 - z^2)^{1/2}$$

$$\frac{|-z^2|^k}{(|-z^2|^k)^k} = \rho^k e^{i\left(\frac{Q+zk\pi}{2}\right)} \quad k=0, 1$$

$$e_{iN} = i \xi + (1 - \xi_5)_{\chi^2}$$

$$e^{iv} = iz + (1-z^2)^{\frac{1}{2}}$$

$$iv = ln[iz + (1-z^2)^{\frac{1}{2}}]$$

$$W = -i ln[iz + (1-z^2)^{1/2}]$$

$$= Sin^{-1}(z)$$

$$\omega = \cos^{-1}(z)$$

$$z = (0)(w) = \frac{e^{iv} + e^{-iw}}{2}$$

$$e^{iv} - 2 + e^{-iv} = 0$$

$$e^{iv} - 2 \xi + e^{-iv} = 0$$
  
 $e^{2iv} - 2 \xi e^{iv} + 1 = 0$ 

$$e^{iv} = z \pm \sqrt{z^2 - 1} = z \pm \sqrt{i(-z^2 + 1)}$$
  
=  $z + i(1 - z^2)^{1/2}$ 

$$\frac{|-\overline{z}^2|^2}{(|-\overline{z}^2|^2)^2} = \rho^{\frac{1}{2}}e^{i(\frac{0+z^2\pi}{2})} \qquad k=0,1$$

$$e^{iv} = \xi + i(1-\xi^2)^{\frac{1}{2}}$$

$$W = -i ln[z + i(1-z^2)^{1/2}]$$
=  $(05^{-1}(z))$ 

$$\cos^{1}(z) = -i \ln[z + i(1-z^{2})^{\frac{1}{2}}]$$

# tan (Z)

$$W = \tan^{1}(z)$$

$$\frac{\sin^{1}(z)}{\cos^{1}(z)} = \frac{-i \ln[iz + (1-z^{2})^{1/2}]}{-i \ln[z + i(1-z^{2})^{1/2}]}$$

$$\frac{e^{i\nu} - e^{-i\nu}}{2i} = \frac{(e^{i\nu} - e^{-i\nu})}{\frac{e^{i\nu} + e^{-i\nu}}{2}} = \frac{(e^{i\nu} - e^{-i\nu})}{i(e^{i\nu} + e^{-i\nu})}$$

$$\frac{Z}{(e^{iv} + e^{-iu})} = (e^{iv} - e^{-iu})$$
  
 $(\frac{(Z-1)}{(Z+1)}e^{-iu} = 0$ 

$$\left(\frac{i}{i}\right)^{2} = \frac{-\left(\frac{i}{i}+i\right)}{\left(\frac{i}{i}-1\right)} = \frac{\left(i+\frac{i}{i}\right)}{\left(i-\frac{i}{i}\right)} = \frac{\left(i-\frac{2}{i}\right)}{\left(i+\frac{2}{i}\right)}$$

$$e^{iv} = \left(\frac{i-2}{i+2}\right)^{\frac{1}{2}}$$

$$|u| = \frac{1}{2} \ln \left( \frac{i - 2}{i + 2} \right) \qquad \omega = \frac{-i}{2} \ln \left( \frac{i - 2}{i + 2} \right) = \frac{i}{2} \ln \left( \frac{i - 2}{i + 2} \right)^{-1}$$

$$\omega = \frac{i}{2} \ln \left( \frac{i+2}{i-2} \right)$$

$$\tan^{-1}(z) = \frac{i}{2} \ln\left(\frac{i+z}{i-z}\right)$$

$$Sin^{-1}(z) = -i ln[iz + (1-z^2)^{1/2}]$$

$$cos^{-1}(z) = -i ln[z + i(1-z^2)^{1/2}]$$

$$tan^{-1}(z) = \frac{i}{2} ln(\frac{i+z}{i-z})$$

$$\frac{d}{dz}$$
Sin<sup>7</sup>(z),  $\frac{d}{dz}$ (os<sup>7</sup>(z),  $\frac{d}{dz}$ tan<sup>7</sup>(z)

$$W = Sin^{-1}(z)$$

$$z = sin(w)$$

$$\frac{dw}{dz} = \frac{1}{(0)(\omega)} = \frac{1}{(1-\sin^2(\omega))^{\frac{1}{2}}} = \frac{1}{(1-\overline{\xi}^2)^{\frac{1}{2}}}$$

$$W = (05^{-1}(2)$$

$$\frac{7}{6}$$
 =  $\cos(w)$ 

$$\frac{d}{dz} z = \frac{d}{dz} \cos(w) = -\sin(\omega) \frac{dw}{dz}$$

$$\frac{dw}{dz} = \frac{-1}{\sin(\omega)} = \frac{-1}{(1-\cos^2(\omega))^{\frac{1}{2}}} = \frac{-1}{(1-\overline{\xi}^2)^{\frac{1}{2}}}$$

$$\frac{d}{dz} \frac{\varsigma : n(z)}{\cos(z)} = \frac{\cos^2(z) + \varsigma : n^2(z)}{\cos^2(z)} = 1 + \tan^2(z)$$

$$= \frac{1}{\cos^2(z)} = \varsigma ec^2(z)$$

$$= \tan(\omega)$$

$$\frac{d}{dz} = \frac{d}{dz} \tan(w) = (1 + \tan(z)) \frac{dw}{dz}$$

$$\frac{dw}{dz} = \frac{1}{(1+\tan^2(2))} = \frac{1}{1+z^2}$$

$$\frac{d}{dz} Sin^{-1}(z) = \frac{1}{(1-\overline{z}^2)^{1/2}}$$

$$\frac{d}{d\xi} \cos^{-1}(\xi) = \frac{-1}{(1-\xi^2)^{1/2}}$$

$$\frac{d}{dz} tom^{-1}(z) = \frac{1+z^{2}}{1+z^{2}}$$

## Sinh (Z)

$$W = Sinh^{-1}(z)$$

$$z = sinh(w) = \frac{e^{v} - e^{-w}}{2}$$

$$e^{v} - 2\xi - e^{-v} = 0$$
 $e^{2v} - 2\xi e^{v} - 1 = 0$ 

$$e_{n} = \xi + \sqrt{(\xi)_{x} + 1}$$

$$= \xi + (\xi_{x} + 1)_{x}$$

$$\begin{aligned}
\overline{z}^2 + 1 &= \rho e^{i\varphi} \\
(\overline{z}^2 + 1)^{\frac{1}{2}} &= \rho^{\frac{1}{2}} e^{i(\frac{\varphi + 2i\pi}{2})} & k = 0, 1
\end{aligned}$$

$$= \mathbb{I} \left[ \mathcal{E} + \left( \mathcal{E}_s + 1 \right)_{\chi} \right]$$

$$W = lm[z + (z^2 + 1)^{1/2}]$$

$$= Sinh^{-1}(z)$$

$$Sinh^{-1}(z) = ln[z+(1-z^2)^{\frac{1}{2}}]$$

#### (5) (50)

$$W = \cosh^{-1}(z)$$

$$z = (osh(w) = \frac{e^{v} + e^{-w}}{2}$$

$$e^{v} - 28 + e^{-v} = 0$$

$$e^{2N}$$
 - 28  $e^{N}$  +1 = 0

$$e^{v} = z \pm \sqrt{z^2 - 1}$$
$$= z + (z^2 - 1)^{1/2}$$

$$\frac{z^{2}-1}{(z^{2}-1)^{\frac{1}{2}}} = \int_{0}^{1} e^{i\theta} \left(\frac{\theta+24\pi}{2}\right) = \int_{0}^{1} e^{i\theta} \left(\frac{\theta+24\pi}{2}\right)$$

$$6_{N} = 8 + (8_5 - 1)_{\chi^2}$$

$$M = \mathbb{I} \left[ \xi + \left( \xi_{s-1} \right)_{k^{2}} \right]$$

$$cosh^{1}(z) = ln[z + (z^{2}-1)^{\frac{1}{2}}]$$

### tanh (Z)

$$W = \tanh^{1}(z)$$

$$\frac{\sinh^{1}(z)}{\cosh^{1}(z)} = \frac{\ln[z + (z^{2} + 1)^{1/2}]}{\ln[z + (z^{2} - 1)^{1/2}]}$$

$$\frac{e^{v} - e^{-v}}{2} = \frac{(e^{v} - e^{-v})}{(e^{v} + e^{-v})}$$

$$\frac{2}{(2-1)} = (e^{\nu} - e^{-\nu})$$
  
 $(\frac{2}{1} - 1) = (\frac{2}{1} + 1) = \frac{2}{1} = 0$ 

$$(2-1)$$
 =  $\frac{(2-1)}{(2-1)}$  =  $\frac{1-2}{1-2}$ 

$$e^{\mathbf{V}} = \left(\frac{1+2}{1-2}\right)^{\frac{1}{2}}$$

$$= \frac{1}{2} ln \left( \frac{1+2}{1-2} \right)$$

$$\omega = \frac{1}{2} ln \left( \frac{1+2}{1-2} \right)$$

$$tanh^{-1}(z) = \frac{1}{2}ln\left(\frac{1+z}{1-z}\right)$$

$$Sinh^{-1}(z) = ln[z + (1-z^2)^{1/2}]$$

$$\cos \frac{1}{1}(\xi) = \ln \left[ \xi + (\xi^2 - 1)^{\frac{1}{2}} \right]$$

$$tanh^{-1}(2) = \frac{1}{2}ln\left(\frac{1+2}{1-2}\right)$$

$$\frac{d}{dz}$$
 Sinh<sup>7</sup>(z),  $\frac{d}{dz}$  (osh<sup>7</sup>(z),  $\frac{d}{dz}$  tanh<sup>7</sup>(z)

$$W = Sinh^{-1}(z)$$

$$\cosh^2 x - \sinh^2 x = 1$$

$$\frac{d}{dz} z = \frac{d}{dz} \sinh(\omega) = \cosh(\omega) \frac{d\omega}{dz}$$

$$\frac{dw}{dz} = \frac{1}{(osh(w))} = \frac{1}{(1+sinh^2(w))^{\frac{1}{2}}} = \frac{1}{(1+\overline{\epsilon}^2)^k}$$

$$W = (05h^{-1}(2)$$

$$z = \cosh(\omega)$$

$$\frac{d}{dz} z = \frac{d}{dz} \cosh(w) = \sinh(w) \frac{dw}{dz}$$

$$\frac{dw}{dz} = \frac{1}{\sinh(\omega)} = \frac{1}{(\cos^2(\omega) - 1)^{\frac{1}{2}}} = \frac{1}{(z^2 - 1)^{\frac{1}{2}}}$$

$$\frac{d \operatorname{Sinh(z)}}{dz \operatorname{cosh(z)}} = \frac{\cosh^2(z) - \sinh(z)}{\cosh^2(z)} = 1 - \tanh(z)$$

$$= \frac{1}{\cosh^2(z)} = \operatorname{Sech}^2(z)$$

$$= tan(w)$$

$$\frac{d}{dz} z = \frac{d}{dz} \tan(w) = (1 - \tanh(z)) \frac{dw}{dz}$$

$$\frac{dw}{dz} = \frac{1}{(1-\tan \frac{1}{2})} = \frac{1}{1-z^2}$$

$$\frac{d}{dz} Sinh^{-1}(z) = \frac{1}{(z^2+1)^k}$$

$$\frac{d}{d\xi} (05h^{-1}(\xi) = \frac{1}{(\xi^2 - 1)^{1/2}}$$

$$\frac{d}{dz} \tanh^{-1}(z) = \frac{1}{1-z^2}$$